Japanese for Busy people
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1. Describing a change in State (2)
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1. Describing a change in State (2)

You use ~ T X ¥ 3 when you have become aware of
a change in some state and want to make a note of it.

(1) To indicate that something has changed over time.

The population has increased.

AR (CAZH) B SR TEELT

To increase /Sw‘?liﬁ‘
52T
Te from + ¥ L7~




Making a sentence with more than 2 grammar from level 2

| have put on weight. (My weight has increased)
WLwo N S TCxEL7,
SO

| intend to do jogging everyday.
FWVNZH, VaFxrrELL) BT ET,

have put on weight 0 | 1and to do jogging everyday.

W LCwo 2N S5 TCE/-0D7T,
FWNIH, YVax ol ELL)EBE TV ET,

intend to ~ Volitional form & 354 > TV FE T
better to ~ ~T71F ) DN T
better not to ~ ~ 7R UME D NN T

may/might ~ ~ME LILERT A



Making a sentence with more than 2 grammar from level 2

Using a modified noun

People who do...

Eg. People who eat sushi TLE g5 A

Japanese food is healthy (good for health),
so the number of people who eat sushi has increased.

HARD 7=_{L,DO0L 67218 WD T
TLAE =B A DB Sz =L,

People who watch anime T =X BB A
people who do jogging vax Tl h 5 A




